


BASORCANAL
CT

|
P I~ =

UNE-EN 61537 20J
UNE 23727 UNE-EN 50085 UNE-EN 61537 UNE-EN 50085

gy, B F i\/‘

ClBP |EC 50102

IEC 60529
CDT AC

L. at» alw

TF JUCT DIN7985 Bl JBP

605!

BASORCANAL

Filling Area

B H40 (1 4/7") H60 (2 3/8") H80 (3 1/7") H100 (4")
mm inch cm? in cm? in? cm? in cm? in
80 3ur 30 4,65
120 457" 46 7,13 70 10,85
140 512" - - - - 110 17,05
200 8" - - - - 158 24,49 198 30,69
300 12 - - - - - - 298 46,19
400 16" - - - - - - 397 61,53
600 24" - - - - - 597 92,53

ll B06 | BASORCANAL



BASORCANAL | |_—=
CT i or
. CT H40

h B —
mm inch mm inch K EI
CT 40x80 40 [147| 80 |317°| 10 | 65 |20151] 172 _ T
CT 40x120 40 1477 120|457 | 10 | 65 |20152| 2,19 g

}‘ 1xJuct
B ® @

T T T
L=3m(10f) T

3000

~ 0 V75375
o

. CT Hé60

H B GSE 9
mm inch mm inch K P m kg/m EI
CT 60x120 | 60 |23 [120]457] 10 | 65 |20153| 244 . B

}'mucr
L1 -© @

L=3m(10ft)

3000

{
[
/
]

~ V75375
'

@ CT H80

H B ; i
mm inch mm inch K P [EEITH * =
CT 80x140 80 (31/7"140|51/2"| 10 | 65 |2/0154| 293 o B E
CT 80x200 80 [31/7"200| 8 10 65 |2/0155| 4,23 l- g
.} A 1uct
L=3m(10f)
ﬁr7 7.5x7.5
. CT H100
H B ” ;
mm inch mm inch K P [EEITTE *
CT 100x200 100 4" |200| 8 10 65 |2/0156 | 4,54 o B
CT 100x300 100 4" |300 12" | 10 65 |2/0157 | 588 l
CT 100x400 100 | 4" |400| 16" | 10 65 | 2/5908 | 7,60
CT 100x600 100 4" |600| 24" | 10 65 | 2/0160 | 16,86
= B A 1w Iy | Pl
L=3m (10
ﬁr7 7.5x7.5

B06 | BASORCANAL 5



|
=T
=
=T
(=)
(==
[=—1
D
=T
[==]

H B R o653
mm inch mm inch mm inch m II ﬂ/
CPT 40X80 40 | 14/7"| 80 |31/7"| 82 |32/9"| 2/0161 0,67 B
CPT 40X120 40 | 14/7"120 |45/7"| 82 (32/9"| 2/0162 1,01
CPT 60X120 60 [23/8"| 120 |45/7"| 82 [32/9"| 2/0163 112 ﬁ
CPT 80X140 80 (31/7"140|51/2"| 82 [32/9"| 2/0164 143 ®
CPT 80X200 80 (31/7"1200| 8" | 82 |32/9"| 2/0165 1,89 R
CPT 100X200 100 4" |200| 8" | 82 (32/9" 2/0166 2,02 R
CPT 100X300 100 4" |300 12" | 82 (32/9"| 2/0167 3,45
CPT 100X400 100 | 4" |400| 16" | 82 (32/9"| 2/3333 5,34 84143 =
CPT 100X600 100 | 4" |600| 24" | 82 |32/9"| 2/0170 9,65 CPT H40/60
A 1t ) =
B
ﬁ
©
61
B+143
CPT H80/100
CCCT
H B R . o
mm inch mm inch mm inch [EEAIETH “
CCCT 40X80 40 |14/7"| 80 |31/7"| 82 |32/9"| 20171 0,61 &
CCCT 40X120 40 |14/7"1120 |45/7"| 82 |32/9"| 2/0172 0,76 8
CCCT 60X120 60 (23/8" 120 |45/7"| 82 |32/9"| 2/0173 092 II:
CCCT 80X140 80 (31/7"|140|51/2" | 82 |32/9"| 2/0174 118
CCCT 80X200 80 [31/7"1200| 8" | 82 |329"| 200175 144 5 9
CCCT 100X200 100 | 4" |200| 8 |82 |3209"| 2/0176 164 o [o ]
CCCT 100X300 100 | 4" |300| 12" | 82 |32/9"| 2/0177 2,10 =
CCCT 100X400 100 | 4" |400| 16" | 82 |32/9"| 2/0178 4,08 H+142
CCCT 100X600 100 4" |600| 24" | 82 |329"| 20180 | 571 CCCT HAO/60/80
A 1w 2 “l"
3
8x8: >/
5
* o
© o o
® o o
H+154
' CCCT H100

B06 | BASORCANAL



BASORCANAL
AN 7

or
TRIiC
h A
mm inch mm inch [EEEIETH - | &
CDT 40 40 |14/77|203| 8 | 200191 | 097 B
CDT 60 60 [23/8"|203| 8 | 20192 | 124
CDT 80 80 [31/7"|283 [111/7’| 200193 | 210 ® ®
CDT 100 100 | 4" |383| 15" | 200194 | 359
CDT 100X400 100 | 4" |483| 19" | 23610 | 340
CDT 100X600 100 4" |683]26809" 2/4203 | 650 -
/“ X/100 x B1 (2/4356) + [D / @ . .
: A
[D AC H40
H B
mm inch mm inch “ DDlm\ \
AC 40/40X80 40 |14/77| 80 |31/7"| 200195 | 0,09 H ﬂ“ﬂ
AC 40/40X120 40 | 147|120 457" | 20019 | 012 05| |2 B5 S
A 3100xB1 (214356) e
[D AC H60
h B
mm inch mm inch m e \ \
AC 60/40X80 40 [14/7"| 80 |317"| 200197 | 0,13 H
AC 60/40X120 40 |14/7" 120 |45/7" | 200198 | 0,17 05| |8 B =
AC 60/60X120 60 |23/8"| 120 (457" | 2019 | 013 o] *
L o ]
A 3100xB1 (24356)
[D AC H80
h B
mm inch mm inch m DDIM\ \
AC 80/40X80 40 |14/7"| 80 |31/7"| 20200 | 017 I ﬂ“‘\
AC 80/40X120 40 |14/7" 120 |45/7" | 200201 | 0,24 05| |2 B5 &
AC 80/60X120 60 [23/8" | 120 |45/7" | 200202 | 0,25 1EH “3
AC 80/80X140 80 |31/7"| 140 (512" | 2/0203 | 025 o
AC 80/80X200 80 |31/7|200| 8 | 200204 | 021
A 3100xB1 (24356)
[D ACH100
H B
mm inch mm inch m - \ \
AC 100/40X80 40 |14/7"| 80 |31/7"| 200205 | 037 H ﬂ
AC 100/40X120 40 |14/7" 120 |45/7" | 200206 | 0,24 0s | |2 BS ©
AC 100/60X120 60 [23/8" | 120 [45/7"| 200207 | 038 =7 *
AC 100/80X140 80 [31/7"| 140 | 51/2" | 20208 | 031 [
AC 100/30X200 80 |31/7|200| 8" | 20209 | 044
AC 100/100X200 100 4 |200| 8 | 200210 | 037
AC 100/100X300 100 4 |300| 12’ | 200211 | 076
AC 100/100X400 100 4" |400| 16" | 200212 | 039
AC 100/100X600 100 4" |600| 24" | 2/4867 | 054
A 3/100xB1 (214356)
B06 | BASORCANAL 7

|
=T
=
=T
[~}
(==
[—3
o
=T
[==]




Y -se_ basor

mm inch mm inch m

TC 40 40 | 147771120 | 457" | 2/0223 0,05 % i "
TC 60 60 (23/8"| 120 |45/7"| 2/0224 0,06

TC 80 80 (31/7"200| & 2/0225 0,21 g B+25

TC 100 100 4" |300 12" | 2/0226 0,30

TC 100X400 100 | 4" |400| 16" | 2/4866 0,40

TC 100X600 100 | 4" |600| 24" | 2/5931 0,58

A 2/100xB1 (24356)

)

h B

mm inch mm inch m -
TF 40X80 40 |14/7"| 80 |31/7"| 200213 | 007 f *
TF 40X120 40 |14/7" 120|457 | 200214 | 0,10
TF 60X120 60 [23/8" | 120 |45/7" | 200215 | 0,10 bD12®
TF 80X140 80 (317" | 140|512 | 200216 | 0,14 \;,
TF 80X200 80 (31/7"|200| 8 | 200217 | 023 -
TF 100X200 00| 4" |200| & | 20218 | 023
TF 100X300 100 4" |300| 12 | 20219 | 046
TF 100X400 100 | 4" |400| 16" | 200220 | 047
TF 100X600 100 4" |600| 24" | 200222 | 068
A 2/100xB1 (214356)

EI
=
g
a
= Juct
H B
15 30
mm inch mm inch REF. kg/ud
JUCT 40X80 40 |14/7"| 80 [31/7"| 20181 | 0,06 ﬂ ﬁ‘
JUCT 40X120 40 |14/7" 120 [457"| 20182 | 0,08 18X7.5 DD1248
JUCT 60X120 60 | 23/8"| 120 | 45/7"| 2/0183 | 0,10 -
JUCT 80X140 80 |31/7"|140|51/2"| 2/0184 | 0,12 O
JUCT 80X200 80 |31/77|200 8 | 2/0185 | 0,15 .
JUCT 100X200 100 47 |200| 8 | 20186 | 0,17
JUCT 100X300 100 47 |300| 12" | 20187 | 022 JUCT H40/60
JUCT 100X400 100 4 |400| 16" | 2/5907 | 0,28 "
15 18X7.5
JUCT 100X600 100 4 |600| 24" | 20190 | 054
uy
/.« 6/100 x B1 (2/4356)
DD12x8
=
< ]l
B
JUCT H80/100

8 B06 | BASORCANAL



DIN 7985

NN

SE_baso

TR

r

Pap
LB R | kg

| 4 | 28818 | 015

? . DIN7985-100 M4X10

E
b; i
S
9 10

B1

&}Q"Q

B1-100

2 Ez
LR REE | kgjud

| 6 | om3s6 | 077

ﬂ

g[

ﬁ JBP

| BP |
R ] g

| 20227 | 003

B06 | BASORCANAL

|
=T
=
=T
(=)
(==
[=—1
o
=T
[==]




|
=T
=
=T
[}
(==
(=1
D
=T
[==]

BASORCANAL

\
" .
1 L>100m LX*&‘O ﬂlzo c ﬁ@) 0
— s R l l
UNE-EN 50085 UNE-EN 50085 20
UNE 23727 UNE-EN 50085 UNE-EN 61537 UNE-EN 50085
_\]&_ fips3] ﬁ |K10f
TN 1/ CUBP S/JBP IEC 50102
L—'] IEC 60529
CPTI CCCTI CDTI ACI
\_ TFI JUCTI TIP65 DIN7985 JBP
- N
Filling Area
B H40 (1 4/7") H60 (2 3/8") H80 (3 1/7")
mm inch cm? in? cm? in? cm? in?
80 317 30 4,65
120 457" 46 713 70 10,85
140 51/2" 110 17,05

10 | Bos | BASORCANAL




H B i304
mm inch mm inch K IP REF. kg/m S
CTI 40X80 40 |14/7"| 80 [31/7"| 10 | 65 | 2/6021 | 1,71 B
CTI 40X120 40 |14/7"|120 |45/7"| 10 | 65 | 2/6762 | 230 %
CTI 60X120 60 [23/8" 120 |45/7"| 10 | 65 | 2/7007 | 246
CTI 80X140 80 |31/7"]140 |51/2"| 10 | 65 | 2/5184 | 2,9
A et g
L=3m(10f) @Nj
5 e
) cem
H B i304
mm inch mm inch  REE  kg/ud — o5
CPTI 40X80 40 |14/7"| 80 |31/7"| 2/7008 | 067 ‘I r ‘ ’Fy
CPTI 40X120 40 | 14/7"|120 |45/7"| 2/9985 | 091 2

CPTI 60X120 60 238" 120 [ 457" | 27009 | 112 .
CPTI 80X140 80 [317" | 140 |512"| 27010 | 143
B A 1uen i

Jao| 0
B+120

CCCTI

H B R i304
mm inch mm inch mm inch REF. kg/ud
CCCTI 40X80 40 |147"| 80 |3177| 82 |3297| 277040 | 061 .
CCCTI 40X120 40 | 1477|120 |457"| 82 |32/9"| 2/9986 | 0,82 ‘»
CCCTI 60X120 60 | 238" [120 457" | 82 |32/9"| 27041 | 092
CCCTI 80X140 80 317" [140|51/2 | 82 |329"| 27042 | 1,18
:l wBas

A 1auct ]

|
=T
=
=T
(=)
(==
[=—1
D
=T
[==]

e

‘ CDTI

H A i304
mm inch mm inch REF. kg/ud
CDTI 40 40 |14/7"/203 | 8" | 2/7043 | 097 c -
CDTI 60 60 (23/8"(203 | 8" | 2/7044 | 1,24
CDTI 80 80 (31/7"| 283 |111/7"| 2/6360 | 2,10 ® ®

/8 @ <

H+27

»a

B06 | BASORCANAL | 11



SE_Dbasor

BELECTARIC

@ ACl

- H B i304
mm inch mm inch REF. kg/ud DD 12x8 : :
ACI 40/40X80 a0 |40 147803077 - | 009 oF §
ACI 40/40X120 40 |40 1471204577 | 27049 | 012 . ! SR
ACI 60/40X80 60 |40 |147"| 80 |317"| 21826 | 014 25— e B
ACI 60/40X120 60 | 40 |14/7"| 120|457 | 219988 | 017 —‘Q_l
ACI 60/60X120 60 | 60 |238"| 120|457 | 27050 | 013
ACI 80/30X140 80 |80 |31/7"|140|51/2"| 217051 | 016
A 310081 (24925)
@ TCI
H B i304
mm inch mm inch REF. kg/ud

TCI 40 120 (457" | 40 |14/7"| 2/7045 | 0,05
TCI 60 120 | 45/7"| 60 |23/8" | 2/7046 | 0,06
TCI 80 200 8 |80 |31/7"| 2/7047 | 0,12 &/ B2

65 H+19
~v
.

A 2100xB1 (24925)

TFI

. H B i304
mm inch mm inch REF. kg/ud

TFI 40X80 40 [14/7"| 80 |31/7"| 2/6023 | 0,07 2
TF1 40X120 40 |14/7" 1120 |45/7"| 2/7077 | 0,09 f]
TF1 60X120 60 [23/8"|120|45/7"| 2/7048 | 0,10 DD12x8
TFI 80X140 80 |31/7"|140|51/2"| 2/5186 | 0,14

= : A~ 2100xBL (2/4925) 2

=T

=2

3

=

JUCTI

H B i304
mm inch mm inch REF. kg/ud 4%
JUCTI 40X80 40 |14/7"| 80 |31/7"| 2/6022 | 0,06 [b ﬁ q
JUCTI 40X120 40 | 14/7" 1120 | 45/7"| 2/7078 | 0,08
JUCTI 60X120 60 |23/8"|120|45/7"| 2/7053 | 0,10 Yiox7.5
JUCTI 80X140 80 |31/7"|140 |51/2"| 2/5185 | 0,12

A 6100xB (24925)

{

1€

TIP65
B i304
mm inch REF. kg/ud
TIP65 40X80 80 |31/7"| 27213 | 005 T e
TIP65 40X120 120 | 457" | 27216 | 0,06 @
TIP65 60X120 120 [ 457" | 277225 | 0,07 " o
TIP65 80X140 140 512" | 218207 | 0,08 1 i

) 2/100 x DIN6923 M6 (0/0342)

\

12 | B06 | BASORCANAL



DIN7985

Pap i304
Nm  REE kg
| 4 | 00333 | 001

? . DIN785-100 M4X10

B1

&}Q"Q

B1-100

Pap L i304
Nm  mm REF. kg/ud
| 6 | 20 | 2m905 | 079

ﬂ

\ZD]:
@ S >
D14 ‘ L

JBP

BP
REF. kg/m
| 200227 | 025

B06 | BASORCANAL

13

|
=
=
=<
[~}
(==
[=—1
o
=
[==]




|
=T
=
=T
(=)
(==
[=—1
D
=T
[==]

N N\
—_1_L>100 a X e Q}D ~ )
= t>10m & AN\l e ]:J o ﬁlpzof f1K10 \L,
UNE-EN 50085 UNE-EN 61537 -
UNE23727 UNE-EN 50085 UNE-EN 50085 UNE-EN 50085 IFC60529 iz
CPWT TCPWT TSCPWT CPWT45 TCPWT45 TSCPWT45
TEWT TTEWT TSTEWT PSWT REWT
9 <

TFWT JUWT B1 DIN 7991 TMK

14 | Bos | BASORCANAL

B
mm inch
100 4
200 8
300 12
400 16
500 20
600 24

Filling Area

H100 (4")
cm? in?
85,56 13,26
181,56 28,14
271,56 43,02
371,32 57,55
467,32 72,43
563,32 87,31




J

/J]

///

//

7

SN

/-

o

T 2
CTA (Kg/m) (Kg) mm inch mm inch REF. kg/m ;]
WT 100X100 21 | 150 [100| 4 |100| 4 |2/10146| 550 -
WT 200X100 45 | 150 [200| 8 |100| 4 |2/0147 | 7,06 ﬁ/m8
WT 300100 69 | 150 |300| 12 |100| 4 |2/10148 | 862 Vel
WT 400X100 93 | 150 [400| 16 |100| 4 |2/10149 | 10,19
WT 500X100 117 | 150 |500| 20 [100| 4 |2/10150 | 11,74 p 25,5
WT 600X100 141 | 150 |600| 24 [100| 4 |2/10151 | 1330 g Tso[ ]
L=2m(66M) /'ZXJUWT g
)'v 2m x WT —>3x SV (B)
A~ B=400-> 1xPSWT T
=
)
TWT
S 4
) f
(K9) mm inch B =
TWT 100 150 [100| 4 | 210191 | 163
TWT 200 150 (200 8 | 210192 | 284
TWT 300 150 | 300 | 12 | 2/10193 | 4,05
TWT 400 150 |400| 16 | 210194 | 526
TWT 500 150 [500| 20 | 2/10195 | 647
TWT 600 150 |600| 24 | 21019 | 7,68
/" 6/100 x DIN 7991 M6x16 (2/10265 - E2)
/-« 1x PSWT (2/10180) > TWT (400 - 600)
)
TSWT
B 2
(UM REE | kg/n | ——
TSWT 100 100 4 |2/10185| 2,19
TSWT 200 200| 8 | 21018 | 376
TSWT 300 300| 12 | 2/10187 | 534 e
TSWT 400 400 | 16 | 2/10188 | 691
TSWT 500 500 20 | 2/10189 | 849 5 dlo
TSWT 600 600 | 24 |2/10190 | 10,16 g
L=2m (66 }‘ 6/100 x DIN 7991 M6x16 (2/10265 - EZ)
) cpwr
M
(Kg) mm inch mm inch {3 kg/ud . e o
CPWT 100X100 150 (100 4 |100| 4 |2/10152 | 185
CPWT 200X100 150 (200 8 |100| 4 |2/10153 | 2,99 B
CPWT 300X100 150 [300| 12 |100| 4 |2/10154 | 4,44 5 -
CPWT 400X100 150 [400| 16 |100| 4 |2/10155| 621
CPWT 500X100 150 [500| 20 |100| 4 |2/10156 | 830 0
CPWT 600X100 150 [600| 24 |100| 4 |2/10157 | 10,69 0

/~ 4/100xBL (214356 £2)
A LxCPWT > 1xSV(B)

JUWT

»

B06 | BASORCANAL | 15

|
=T
=
=T
[~}
(==
[=—1
o
=T
[==]




|
=T
=
=T
(=)
(==
[=—1
D
=T
[==]

L
q_b
(Kg) mm inch
TCPWT 100 150 | 100 | 4 | 210197 | 0,53
TCPWT 200 150 1200 | 8 | 2/10198 | 118 900
TCPWT 300 150 (300 | 12 | 2/10199 | 2,06 Wom SHIITEITE
TCPWT 400 150 (400 | 16 |2/10200 | 322 SENEMSEME
TCPWT 500 150 |500| 20 | 2/10201 | 4,58 i ﬁ@ ﬁ@ ﬁ@
TCPWT 600 150 | 600 | 24 | 2/10202 | 6,18 @ = @ = @ = OWW
’ B=100,200,300 3/100 x DIN 7991 M6x16 (2/10265 - £Z) = Mg i@g i
o R
) B=400,500,600 5/100 x DIN 7991 M6x16 (2/10265 - £7) T
TSCPWT
B
m "
TSCPWT 100 100 4 | 210203 | 0,70 2
TSCPWT 200 200 8 | 210204 | 154
5 TSCPWT 300 300 12 | 210205 | 2,70 s ‘
TSCPWT 400 400 | 16 | 2/10206 | 417
TSCPWT 500 500 | 20 | 2/10207 | 596
TSCPWT 600 600 | 24 | 2/10208 | 806 ’
}' B=100,200,300 3/100 x DIN 7991 M6x16 (2/10265 - £7) y
’ B=400,500,600 5/100 x DIN 7991 M6x16 (2/10265 - £7) B
@ CPWT45
T
(Kg) mm inch mm inch 4 60 ool —12x8
CPWT45 100X100 150 (100 4 |100| 4 | 210158 | 095 W
CPWT45 200X100 150 (200 8 |100| 4 | 210159 | 1,39
CPWT45 300X100 150 (300 12 |100| 4 | 210160 | 195
CPWT45 400X100 150 (400 16 |100| 4 | 2/10161 | 2,63
CPWT45 500X100 150 {500 20 |100| 4 | 2/10162 | 3,67
CPWT45 600X100 150 (600 24 |100| 4 | 2/10164 | 4,89
’ 4/100 x B (2/4356 - £2)
) 1 x CPWT45-->1x SV (B)
TCPWT45
L
K) mm inch WRCTANRCTIN
TCPWT45 100 100 4 | 2/10209 | 020
TCPWT45 200 150 {200 8 | 2/10210 | 045
TCPWT45 300 150 300 12 | 210211 | 0,80
TCPWT45 400 150 400 | 16 | 210212 | 124
TCPWT45 500 150 {500 | 20 | 2/10213 | 1,90
TCPWT45 600 150 | 600 | 24 | 2/10214 | 271

) 3/100 x DIN 7991 Méx16 (2/10265 - EZ)

16 | Bos | BASORCANAL



BASORCANAL |
N m WIT I / | 0{

TR
—
TSCPWT45
B ~
mm inch
TSCPWT45 100 100 4 | 210215| 026 Eﬁ’ﬁfﬁ
TSCPWT45 200 200 8 | 210216 | 0,59
TSCPWT45 300 300 12 | 210217 | 1,04
TSCPWT45 400 400 | 16 | 210218 | 16l %o
TSCPWT45 500 500 | 20 | 210219 | 248 °
TSCPWT45 600 600 | 24 |2/10220 | 353
ﬁ 3/100 x DIN 7991 Méx16 (2/10265 - EZ) Y.
=] |
@ TEWT
U H
- . . 128
(K9) mm inch mm inch I[ u’- o o
TEWT 100X100 150 [ 100 4 |100| 4 | 210165 | 235
TEWT 200X100 150 {200 8 |100| 4 | 2/10166 | 3,47
TEWT 300X100 150 {300 12 |100| 4 | 2/10167 | 4,90 .
TEWT 400X100 150 {400 16 |100| 4 | 2/10168 | 6,64
TEWT 500X100 150 (500 20 |100| 4 | 2/10169 | 870 ®
TEWT 600X100 150 (600 24 |100| 4 | 2/10170 | 11,08
) 6/100 x B1 (2/4356 - £2)
A IXTEWT > 1xSV ®)
Juwt
%‘
[~}
TTEWT S
=
S =
(Kg) ~mm inch -
TTEWT 100 150 {100 4 | 210221 | 0,72 ﬁt
TTEWT 200 150 {200 8 | 210222 | 147
TTEWT 300 150 {300 | 12 | 2/10223 | 246
TTEWT 400 150 400 | 16 |2/10224 | 3,69
TTEWT 500 150 500 | 20 | 2/10225 | 5,16
TTEWT 600 150 600 | 24 | 2/10226 | 6,88
’ 4/100 x DIN 7991 Méx16 (2/10265 - EZ)
TSTEWT
B
mninch
TSTEWT 100 100| 4 |21027 | 09 o 5 ;
TSTEWT 200 200 8 | 210228 | 191
: TSTEWT 300 300 12 | 210229 | 3,20
TSTEWT 400 400 16 | 2/10230 | 480
TSTEWT 500 500| 20 |2/10231 | 6,72 @
TSTEWT 600 600 | 24 | 2/10232 | 895
) 4/100 x DIN 7991 Méx16 (2/10265 - EZ) T
g B+200

B06 | BASORCANAL | 17



SE_Dbasor

BELECTRIC

CCWT

B h 26 )
mm inch mm inch ° o
CCWT 100X100 100 4 100 4 |210171| 199 i i
CCWT 200X100 200 8 100 4 |210172 | 291
CCWT 300X100 300| 12 |100| 4 |210173 | 3,83 olo
CCWT 400X100 400 | 16 |100| 4 | 210174 | 475 = o i
CCWT 500X100 500| 20 |100| 4 |2/10175| 5,67 = =
CCWT 600X100 600 24 100 4 | 210176 | 6,559 o o

&~ 4/100xB1 (214356 - E2)

JuwT N ®@ 0 ®  In
,_\ = =
CCCX WT

200

-

PSWT

X
REF. | kg/ud wﬁi
PSWT 100 210180 | 198 ihe
/& 4100xB1 (24356 - £2)
G ~N
187,577 o ——
= |
=
=2
2 &
=8 (L) REWT
H 2
UM REE | kg/ud T
REWT 100X100 [107] 4 | 20087 | 026 5 e
&~ 2100xB1 (24356 - £2) e .
TRWT
B H
mm inch mm inch
TFWT 100X100 100 4 [100] 4 [2no240| 021 {
TFWT 200X100 2000 8 |100| 4 |210241| 036
TFWT 300X100 00| 12 [100| 4 |210242| 052
TFWT 400X100 40| 16 [100| 4 |210243| 068
TFWT 500X100 500 20 100 4 |2/10244 | 083 5
R E—
TFWT 600X100 600| 24 100 4 | 210245 | 099
12
A 2100 B1 (204356 - £2)

18 | Bos | BASORCANAL



=E_Dbasor

BELECTARIC

JUWT

REF. | kg/ud
JUWT 100 [ 2710177 | 018 0
v 12)(8)j
A 2100xB1 (214356 - £2)
120 12
= sv
mos e ﬂ, :
LD & | o« I L
SV 100 276 | 609 | 100 | 4* | 1,5 | 211046 | 0,09 & asas
SV 200 253 (558|200 | 8" | 1,5 | 211048 | 0,17 7 7 7 JME=
SV 300 207 | 456|300 | 12" | 1,5 | 211049 | 0,23 Bras ]
SV 400 506 (1116|400 | 16" | 1,5 | 23413 | 045 —
SV 500 460 1014 500 | 20" | 1,5 | 213414 | 052 SVO 100/150/200/300
SV 100/150/200/300 SV 600 414912 | 600 | 24" | 1,5 | 213415 | 0,59
¥
p 21100 % B (24356 - £2) J L L
L
72277 72272 $T
2 i
+ii¥ B+146 [
SVO 400/500/600
SV 400/500/600
—
2
BT =
: z
[==]

. IR
B1-100 | 14 | 2m3% | 077 g[
iS)

&_;E;Q"Q p?

DIN 7991
4

| REE_ | kg/ud |
% DIN7991-100 M6X16 | 210265 | 0555
(4]
~

TMK
| ] 5

0 =S TMK-100 M6 | 210266 | 0,20
€ I ]
ot

16

16

B06 | BASORCANAL | 19



